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BECC–106 : INTERMEDIATE MACRO- 
ECONOMICS–I 

 Time : 3 Hours    Maximum Marks : 100 

Note : Answer questions from all the Section as per 

instructions given in each Section.  

Section—A 

Note : Answer any two questions from this Section 

in about 500 words each. 2×20=40 

1. Describe the factors that influence wage setting 
and price settings by firms. Derive the 
aggregate supply (AS) from the relationship 

between price setting and wage setting 
equations. 
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2. Explain the concept of adaptive expectations. 

Describe how adaptive expectations can be used 

to explain the discrepancy between short-run 

aggregate supply (SRAS) curve and long-run 

aggregate supply (LRAS) curve. 

3. Bring out the salient features of the 

Dornbusch’s overshooting model. 

4. Discuss the imperfect information model of 

Lucas. State its assumptions and implications. 

Section—B 

Note : Answer any four questions from this Section 

in about 250 words each. 4×12=48 

5. Give a brief account of the factors that lead to 

shifts in the aggregate demand (AD) curve. 
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6. Explain why the trade-off between inflation and 

unemployment may not be available in the 

long-run. 

7. Briefly describe the various types of financial 

derivatives available to minimise risks. 

8. Explain the impact of an expansionary 

monetary policy on output and prices in the 

short-run and the long-run. 

9. “Balance of payments of a country is always 

zero.” Comment on this statement. 

10. “Under floating exchange rate  

system, only monetary policy is effective.” Do 

you agree with this statement ? Justify your 

answer. 
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Section—C 

11. Write short notes on any two of the following in 

about 100 words each : 2×6=12 

(a) Purchasing power parity 

(b) Types of exchange rate regimes 

(c) Policy ineffectiveness proposition 

(d) Stagflation 
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      BECC–106 

ch- ,- (vkWulZ) vFkZ'kkL=k 

(ch- ,- bZ- lh- ,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-bZ-lh-lh--106 % eè;orhZ lef"V vFkZ'kkL=k&I 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % lHkh Hkkxksas esa ls iz'uksa ds mÙkj] izR;sd Hkkx esa fn, 

x, funsZ'kkuqlkj nhft,A 

Hkkx&d 

uk sV % bl Hkkx esa ls fdUgha n k s iz'uksa ds mÙkj yxHkx 
500 'kCnksa esa nhft,A 2×20=40 

1- mu dkjdksa dk o.kZu dhft, tks iQeks± }kjk osru 

fu/kZj.k vkSj dher fu/kZj.k dks izHkkfor djrs gSaaA 

dher fu/kZj.k vkSj osru fu/kZj.k lehdj.kksa ds chp 

lEcU/ ds }kjk lexz iw£r (AS) dh O;qRifÙk dhft,A 
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2- vuqdwyh izR;k'kkvksa dh vo/kj.kk dks le>kb,A o.kZu 

dhft, fd fdl izdkj vuqdwyh izR;k'kkvksa dk iz;ksx 

vYidkyhu lexz iw£r (SRAS) oØ vkSj nh?kZdkyhu 

lexz iw£r (LRAS) oØ ds chp folaxfr dks le>kus 

ds fy, fd;k tk ldrk gSA 

3- MkuZcq'k ds vfrya?ku izfreku dh eq[; fo'ks"krkvksa dks 

mtkxj dhft,A 

4- yqdkl ds viw.kZ lwpuk izfreku dh ppkZ dhft,A 

bldh ekU;rk,¡ vkSj fufgrkFkZ crkb,A 

Hkkx&[k 

uk sV % bl Hkkx esa ls fdUgha p kj iz'uksa ds mÙkj yxHkx 

250 'kCnksa esa nhft,A 4×12=48 

5- mu dkjdksa dk laf{kIr fooj.k nhft, tks lexz ek¡x 

(AD) oØ esa f[kldko ykrs gSaA 
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6- le>kb, fd nh?kZdky esa eqækLiQhfr vkSj csjkstxkjh ds 

chp le>kSrkdkjh&leUo;u D;ksa ugha gks ldrkA 

7- tksf[ke U;wure djus ds fy, miyC/ fofHkUu izdkj 

ds foÙkh; O;qRiUuksa (O;qRiknksa) dk laf{kIr o.kZu 

dhft,A 

8- vYidky vkSj nh?kZdky esa mRiknu vkSj dher ij 

,d foLrkfjr ekSfæd uhfr ds izHkko dks Li"V 

dhft,A 

9- ¶,d ns'k dk Hkqxrku 'ks"k lnSo 'kwU; gksrk gSA¸ bl 

dFku ij fVIi.kh dhft,A 

10- ¶vfLFkj fofue; nj iz.kkyh ds vUrxZr fliQZ ekSfæd 

uhfr izHkkoh gSA¸ D;k vki bl dFku ls lger  

gSa \ vius mÙkj dk vkSfpR; Li"V dhft,A 

C–2472/BECC–106  P. T. O. 



 [ 8 ] BECC–106 

Hkkx&x 

11- fuEufyf[kr esa ls fdUgha nks ij yxHkx 100 'kCnksa esa 

laf{kIr fVIif.k;k¡ fyf[k, % 2×6=12 

(d)  Ø; 'kfDr lerk 

([k)  fofue; nj O;oLFkkvksa ds izdkj 

(x)  vizHkkoh uhfr dFku 

(?k)  eqækLiQhfrtfur eanh 
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